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(3) 15— EBI3ZERXRTORANS2FBD/NRHL :

[ BENEE TWEREDEMS  BERFECHETFEE] = [rBEIRE TLERE
D&M BIEBRECPETFESRE] |

(4) 119 =Y MWRHL ¢ [rBEIARE TV I XREDER : BREERCHEFE
] = [FBRENMEE TV EREDER : BIEBEFXCHIETFEANR] |

(5) 308 = TANL3THE: [BEZL T | = [REEZZERBLT. ]
BT, (18) £TIERAINBERICEAT 2BIEE ALY £7,

(6) 3l4~—y HRIEEEMATH, LFAA—=2RE: [301] = [299] |
(7) 3l4~—y HR3EEEM2417T8 [EFWHE] : [132) = [233]

(8) 31b~=—y ZHR5|EEAMG6ITH. FFESRF : [292] = [290] .

(9) 316 ~=—y, HRIEBEMI2ITE, F—0TxILF—RE: [262] = [261]



(10) 316~—> HEIEBEABLIITE. F—0r~v&— (BEHE) @ [242] =
[240] .

(11) 316~—> HEIEEAM6ITE. Kii—H : [287] = [285] |

(12) 3l6~—> HEIEEAM221TE. BEEKRE: [287] = [285] .
(13) 3l6~—> HEIEEAM221TE. BKFE—H : [287] = [285] .
(14) 317~—> HREIBEELM231TE. FTHEHRME  [262] = [261] .

(15) 318~—¥ #5|IEEAM161TH: [J-PARK] = [J-PARC] .

(16) 318~—> HR3|EEAM221TE. LHC(KE/ N F O U ERENESR) :
[272] = [270] .

(17) 318~—> RAIEEAM3I01TE. [r@ (R (rapid) PHEFHEBTRE)
[113] = [112] .

(18) 318~—2 RFBEEHEM3I2ITE. [s8BF GEL(slow)FEFHEBRE)
[113] = [112] .

(19) 9= 2478 [RINERREFZAFTKEE] = [BRINERRFEFRERS]
(20) 157 == 1178 : [ThHY, ZD2FF, | = [THY., FEERICLHS
DHEHED 2 T, |

(21) 157 ==, 2178 : Z=(g+ib)(a-ib)=a+ b= |’=(a+ib)(a-ib)=&+
(22) 158 == 6178 : Z=r?(cos(0)+iin(0))>= r?
(cos?(0)+sin?(0))=r=|z%=r?|cos(8)+i5in(0)[?= r*(cos?( 8 )+sin?(0))=~ (2 3)
158 =Y TT7H : [BEFOMBOREXREZRT 22I3ZLEVWABLTT, | = [BFD
MNEOGHEERICHTI2ETHDzI?IZELLELALHLTT, |

(24) 269 ~—>_ 1178 : ¢:1(xy,z,0)= 01(xy,z2,t)

(25) 269 =2 2478 ¢.(xy,z,0= 0 ,(xy,z,t)

(26) @269 ~—> 2178 [ ¢illd,[)eVWIRESDIFILF—] =
[(oillp VI RESDTRILF—]

(27) @269 _—2 4478 [HBREVITRIG ¢ & ¢, 1CHBDE( G0, 1)%]
= [EHEE Y IR 0 & 0, 1I2BDE(eil,l e, | ) %]
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